REVIEW:
Precalculus 2.4-2.8  NO CALCULATOR

Name:   ___________________

Find each of the following pieces of information below.  Use it to graph the function.  
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x-intercepts:  __________________

y-intercepts:  __________________

V.A:  _________________________

H.A:  _________________________

Slant Asymptote (if necessary):  
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x-intercepts:  ___________________

y-intercepts:  ___________________

V.A:  __________________________

H.A:  __________________________

Slant Asymptote (if necessary):  

Use Decartes Rule of Signs to determine the possible number of positive and negative real zeros of the function

3.) h(t) = t3 – 2t2 – 7t + 2



4.) f(s) = s3 –12s2 +40s –24

REVIEW: 
PreCalculus – Calculator Portion


Name:  ____________________

Solve each inequality, graph the solution set on a number line.
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9.) Use synthetic division to show that x is a solution of the function, and use the result to factor the polynomial completely. List all the real zeros of the function:

  48x3  – 80x2 + 41x – 6=0 ; x= 2/3

10.)  B varies directly as A and inversely as the square of C.  B = 7 when A = 9 and C = 6.  Find B when A = 4 and C = 8.

11.)  The illumination provided by a car’s headlight varies inversely as the square of the distance from the headlight.  A car’s headlight produces an illumination of 3.75 footcandles at a distance of 40 feet.  What is the illumination when the distance is 50 feet?
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